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................ involves transfer of ownership of the goods.
a. Selling b. Assembling,
¢. Buving d. Assembling & buying

Which of the following refers to marketing channel?
a. Integrated Marketing Communication b. Distribution

c. Marketing myopia d. Retailing

The essential criterion for effective segmentation is ................
a. Homogeneity b. Measurability
c. Profitability d. All of these
Social class is an elementof............ ... factor.

a. Social b. Cultural

c. Personal d. Economic

Which of the following is not an element of demographic segmentation?

a. Family size b. Population density
¢ Income d. Religion
Warehousing, creates................ ulility.

a. Product utility b. Place utility

¢. Time utility d. Customer utility

s Bwes bk tndanics is not a function of wholesaler.

a. Warehousing, b. Transporting

c. Risk bearing d. None of these

A firm has decided to localize its products and services to meet local markel
demands. Which one of the following approaches is a good approach for
segmentation?

a. Geographic b. Demographic

c. Psychographics d. Behavioural

............... makes a service different from a product.
a. Pricing Intangibility
c. Ubiquity . Liquidity

oL o

Branding is a functionof ................

a. Research b. Exchange

c. Physical supply d. Facilitating,

The market in which goods are bought and sold in bulk quantities.
a. Wholesale market b. Retail market

c. World market d. None of these
Marketing environmentis ................

a. Largely uncontrollable b. Changing fast

¢. Influencing market decisions d. All of these
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